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Question 2: The Helium He,* cation exists, whereas the neutral Hez does not. Explain
why this is using a molecular orbital diagram. (Helium’s atomic number is 2)7 o
Respond in the box below. A




Last/First Name

pounds below have pKa values of 6, 8.6 and 4. Assigﬂ t
values to the compounds below.

Question 4: v

Nitrophenol:
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Question 5. Predic
mark with NR.

a)

tthe product(s) for these reactions. In the case of no r{e‘,"

NO, /\/NHz
(o}

1 equivalent

AN

1 equivalent
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Question 7: Propose a synthesis for the product drawn below using th

reactants. You will also need some additional basic reactants. Please
which additional reagents you use.




Last/First Name:

Question 8:

a) How many pi electrons are in the conjugated system of the cyc
cation which is formed under the following conditions:

Ll f Answer: _ )

b) Is the cyclopropene cation aromatic? (Y/ N%

5

Answer: _

c) Isthe cycloprop'éh‘é‘fil :
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Question 9: One of the protons Ha and Hp has a chemical shift of 6.0ppm, and the
other is 7.0ppm. Please assign the correct shift values to Ha and Hp and explai
reasoning using a figure and 1-2 sentences.




